Ch. 2 Review %E\

1. If f(x) =x? —5x — 6 and g(x) = i
. a)Evaluate g(f(4)) b) Evaluate (f +9)(9)= i(q)f%{cf) ¢) Evaluate f(g(x)) F [—"‘]
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2. Write a polynomial whose roots are 5, and 3 +21)‘5“”3L B i e bl
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3. Three consecutive integers have a sum of 261. Find the three integers. Show OW your wo work.
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4. Your salary was $27,500 in 2003 and $29,900 in 2006. If your salary follows a linear growth
pattern, write an equation to model the value of your salary each year. Then, evaluate what your

salary would be in 20182 = ROOX + 27500
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Factor each polynomial and find the zeroes.

8. 3xt+6x=0 9. x2—2x—15=g 10. 25x2—121=%
X (X+3) = X-5YX+3)= (SX’U S5X 4| =0
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11. 2x2 +5x-3=0 2. x> —19x + 48 13. 3x2-25x+28=0
(gx =P 2)=0 L -B)(-2)=0
TTrlo x=>\
14. 3x®> -2x-5= 0 15. ¥*+x*-16x-16=0 . x°—-100=0
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Graph each piecewise function: Create a T-chart for each function

2x x<-1 (?(X),—-'D 2 x=1 GC@; G
17. f(x)=|x+l, -1<x<3 (1,3 18. f(x)=|6-x*, 1<x<3 (i, 3]
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19. Using the piecewise function f(x), Evaluate f(—3), f(0), f(2), f(3),and f(5)
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Find the zeroes: #20 and 21, use the quadratic formula. For #22, complete the square
v
a=1 20, x*-2x+3=0 21. x*+4x-21=0 22, 2" 40 —12 =1
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wty = 84 : : .
23. The sum of two numbers is 84. Find the maximum value of their product.

a),, Create a polynomial that represents all possible products.
= \Si’ltt
8”:'(’)( - opdlar % (gq,,yg = MAX Prodaact
S4x -x* = paox Arodlocd
ax (42, 1764)

b) Find the maximum value of the product. | ( o

¢) What two numbers would you use to get this maximum value? Ist 1S A2
Z’d 8 45
24. Suppose that the perimeter of a rectangle is 600, ft. If x represents the width of the
rectangle (in feet), then express the area of the rectangle as a function of x.
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a) Create a polynomial that represents the area of the rectangle in term of x.
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' b) Find the maximum possible area of the box. 92,500 {.y’l

c) What are the dimensions that yield a maximum area.
Lsd Dot Tua 35 50 -?-}'
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25. The surglc OE tL\)»vo numbers is 29. Find the smallest possible sum of their squares.

— e o kj"": Surn of SHUAES
a) Create a polynomial that represents the sum of squares.
X s \STEHE XAt (24 _/;Qﬂ,: Som oft Squore S
A -X '\5:%:, 2P -S8x +BH = Sem of-Sguares

L. (s 430.5)
b) Find the smallest possible value of the sum of squares.
H20 .5
¢) What two numbers would you use to get this minimum value? __
[>F 9 s jd.s vl #F s[4S
26. Suppose that you are building a fence, using the side of a building as one side. You
have 250 feet of fencing to use for the other 3 sides.

.\n«)‘d St a) Create a polynomial that repw area of the rectangle, in terms of the width w.
‘ ,  RILEESE L A= w (250 -2u)
& W eateu e it e 1
= i (64:5,71912.
b) Find the maximum possible area of the box. 7 §/4 .S 7{'7’

¢) What are the dimensions that yield a maximum area. ~ & g
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27. A projectile is fired from a cliff that is 500 feet above the water. The height, h
(in feet), is given by the function h(x) = —32x? + 128x + 500 where x represents

time in seconds. %) Lﬂ,wﬁ;)

a) Sketch a graph of the function and label
X intercepts, y intercepts, and maximum.

K= =545 ant SO0 e 243
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b) Identify the x intercept that is important in this problem: @ .43
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c) What does this value represent in practical terms s e LoCier

d) Identify the y-intercept: 500

- S00
) What does this represent in practical terms? Projechlo 5{@(15 3 %L
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f) Maximum height: (093"9 How long does it take to reach this height? 2 Sec .

28. Use a graphing calculator to find ONE real root. Then, find the rest by hand.
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29. Using your calculator, graph P(x) = x3 4+ 5x% —x — 926\- s —%.LFSJ\Q»O!) ‘
. . . e\ Min (L0, -9.09
a) Identify any extrema as well as any points of 1nﬂect10n.g_t of Tnflechom X AR

b) Describe the end behavior. X7 -co \\ﬂ—?_@ cuol x-00, Yz oo

c¢) Find the zeroes.
Xz —).dS owel x=—4E

v
30. Using your calculator, graph P(x) = —x% — 3x + 10
a) Identify any extrema as well as any points of inflection. |
/ 7 b)) l[:).es;r';lbe the end behaviorx >-0,Y> ’S‘g Y\Of;ﬁgc o
' C Ind the zeroes. " - 2 >
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